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BINET=HD.LE{iI. RIZHEH WP/N—TJ&Et

b

I s K4 out| HD | NET | AE I {2 K% out| HD | NET | ABE | |IESE K4 out| WD | NET | AE JIE 4 K4 ouT| HD | NET

1 %5 BE 39 168 322 O 51 |&MA & 39 144 [346 101 A% {B8RE 54 [18.8 [35.2 151 |MEE #<Z 51 [15.2 135.8
2 |F#ER FE 43 1108 (322 ] O 52 |IhE = 39 144 (346 ] O 102 |4t R 39 | 3.6 354 152 | k@A #2F [ 51 [15.2]35.8
3 | TFH EiE 45 (128 (322 | O 53 |#<2zt+ E7 [ 43 | 84 |34.6 103 |TiE =B 41 |1 5.6 |35.4 153 |giTA £4&F [ 51 |15.2 135.8
4 W% =Aa1 45 1128 (322 ] O 54 |AH BEXE 43 184 1346 104 [iIig =2 41 [ 56 354 154 [shtk 5 36 0.0 136.0
5 BB %= 44 1116 (324 ] O 55 |HE fiK 43 184 |34.6 105 |&MA &x 41 [ 5.6 |35.4 155 [## F= 38 [ 2.0 [36.0
6 M R 48 115.6 {32.4 (@) 56 |4t E1T 45 110.4 134.6 106 [#E&x 5A 41 5.6 [35.4 156 |[ZE =E 42 1 6.0 136.0
7 |E% A#E® |50 (1761324 ] O 57 |FHA & 45 110.4 134.6 107 |8 % 45 [ 9.6 |35.4 157 [lUAR {24t 42 16.0 [36.0
8 |ILF @z 41 180 [330] O 58 |&XH = 45 110.4 134.6 108 [#2 7 %ER 45 [ 96 |35.4 158 |2 =k 42 16.0 136.0
9 |W=x HEE 40 168 [332] O 59 & ER 45 110.4 134.6 109 /A EZE 45 [ 9.6 |35.4 159 [&£F E— 42 16.0 [36.0
10 &)1 =88 46 1128 (332 ] O 60 |iERE 1517 45 110413461 O 110 [/hE& #h3H 45 96 1354 O 160 [t #0i0F | 42 | 6.0 |36.0
11 |45 B 46 (128 [33.2| O 61 |l 81X 45 110.4 134.6 111 [ KT ZEh 47 [11.6 |35.4 161 |aE2: %= 42 16.0 [36.0
12 [ME &1T 46 1128 (332 ] O 62 [1ER #HE 45 110.4 134.6 112 | F@ FlE 47 [11.6 |35.4 162 | LB ff#T 42 16.0 136.0
13 [KE ##h 43 196 [334] O 63 |Z#F Bk [ 51 |16.4]134.6 113 |#)1l BE:A 47 [11.6 |35.4 163 [ & 44 18.0 [36.0
14 |h# E— 45 1116 (3341 O 64 | BEth 36 112 (348 114 | AR 1§ 38 124 [35.6 164 [#288 FEX 44 18.0 136.0
15 |3 2432045 (116 (334 | O 65 | AR IE# 42 1 7.2 134.8 115 [lUA BE 40 |1 44 1356 165 |&i)Il_BE:A 48 112.0 136.0
16 |£5 BX 44 1104 (336 ] O 66 |EX B 42 1 7.2 1348 116 |/he% #—m [ 40 | 4.4 [35.6 166 |[&£ = 48 112.0 136.0
17 |RE —1& 44 (104 (336 | O 67 Bk ExeB [ 44 1 9.2 |34.8 117 |5# fBsE 40 |1 44 1356 167 |8 FEm [ 50 [14.0 |36.0
18 [FE &H— 41 172 (3381 O 68 [lUA Al 44 192 1348 118 [fIAH # 40 [ 44 135.6 168 |#f £ =5 50 114.0 136.0
19 |.EfE BAE 41 [ 7.2 (338 O 69 |# 1E88 44 1 9.2 134.8 119 [t&3+ BRI 40 [ 4.4 135.6 169 |BE# X& 50 ]14.0 136.0
20 |EF = 43 19.2 (3381 O 70 | &t 35 100 [350] O 120 |7 =¥ 44 84 1356 O 170 |%E)Il BIE 56_120.0 136.0
21 |F RRE 43 9.2 [33.8 71 |EF —= 41 1 6.0 |35.0 121 | L% &R 44 184 1356 171 3% FE 56 120.0 136.0
22 |BX BE 49 115.2 133.8 72 |#F @Eh 41 16.0 1350 122 & =T 146 [104 [35.6 172 | L& 51R 56_120.0 136.0
23 |@L ® 49 [15.2 [33.8 73 | KT & 41 1 6.0 |35.0 123 | %5 #EA 46 1104 |35.6 173 [Kfh B2 35 |-1.2 136.2
24 |EE EA 42 180 [340 74 12X =—8 | 43 |1 80 [35.0 124 |38 8 46 [10.4 135.6 174 |56E F& 41 148 136.2
25 | k¥t E— 42 8.0 [34.0 75 |=81 ¥ 43 1 8.0 |35.0 125 |FA IE 46 1104 |35.6 175 @ 82 41 148 136.2
26 |2 FE 42 1 8.0 [34.0 76 |#HE #& 43 1 8.0 [35.0 126 [AfZH 2wl | 46 |10.4 |35.6 176 |2 =8 41 | 4.8 |36.2
27 | b BE 48 [14.0 {34.0 AGENE] 47 112.0 1350 127 |de4t =3h 46 1104 |35.6 177 |@sE % 41 148 1362
28 [IuX & 48 114.0 [34.0 78 |stHA #H— 49 114.0 [35.0 128 [#E &5 46 [10.4 135.6 178 |EX FHiE 41 | 4.8 36.2
29 |EF *8B 48 [14.0 {34.0 79 /NN Rig 49 114.0 1350 129 |BA £ 50 [14.4 |35.6 179 |ER #it 43 |1 6.8 |36.2
30 |En &3 54 120.0 1340 O 80 [tEME = 49 114.01350] O 130 [fnig =50 50 1144 (356 | O 180 |[BR BA 43 | 6.8 |36.2
31 |4t #F 41 [ 6.8 [34.2 81 |yl F 49 114.0 1350 131|=X &%— [50 [14.4 135.6 181 |1 #eA [ 47 |10.8 |136.2
32 | K& gk 41 168 [34.2 82 |Ihy HF 49 114.0 [35.0 132 |#&)Il & 50 |14.4 [35.6 182 |=% # 47 110.8 |36.2
33 |BX 5 41 [ 6.8 [34.2 83 |it 3hH] 55 120.0 |135.0 133 [/h#k B 37 1 1.2 1358 183 |[HE #F 47 110.8 136.2
34 |B% &k 47 112.8 [34.2 84 [BK #= 55 120.0 [35.0 134 |4 Eh 39 | 3.2 [35.8 184| K2 = 47 110.8 |36.2
35 |AE XE 47 [12.8 [34.2 85 [fO #18 34 [-1.2 1352 135 |#)Il R&fe 39 [ 3.2 |358 185 |BRt 1834 47 110.8 136.2
36 | EA F 47 112.8 [34.2 86 [it# f— 40 | 4.8 |35.2 136 [&H BAsh 39 | 3.2 [35.8 186 [ =8 49 112.8 136.2
37 |#L EH 53 118.8 [34.2 87 |fRE #K 40 | 4.8 |35.2 137|&F %E 43 1 7.2 1358 187 |Fig Fig 49 112.8 136.2
38 | LB IEE 40 | 5.6 [34.4 88 st ®iE 40 | 4.8 |35.2 138 [E+ &5 43 [ 7.2 135.8 188 [#1E # 49 112.8 136.2
39 [#EX Fl— 40 [ 5.6 [34.4 89 [E L #H— 42 1 6.8 |35.2 139 ’k## BS 43 1 7.2 1358 189 |HE EF 49 112.8 136.2
40 &Nl EfT 40 156 [344] O 90 |0 E% 42 168 13521 O 140 [3E =E7 43 [ 7.2 1358 O 190|HE X= 49 112.8 136.2
YH ESTTTIE-9N 40 | 5.6 [34.4 91 [Jefl F— 42 1 6.8 |35.2 141 |K@E EA 43 1 7.2 1358 191 |8 & 49 112.8 136.2
42 | B— 44 1 9.6 [34.4 92 |[FE =% 42 1 6.8 |35.2 142 | k& 088 43 [ 7.2 135.8 192 |[ME I 49 112.8 136.2
43 [E% #Eh 44 | 9.6 [34.4 93 |l R 42 1 6.8 |35.2 143 |#&i& EF 45 1 9.2 1358 193 [3R0 shER | 53 116.8 |36.2
44 |hE BB 46 111.6 [34.4 94 |%em = 46 110.8 |35.2 144 [pB% 17 45 [ 9.2 135.8 194K B 42 156 [36.4
45 | K& % 46 [11.6 [34.4 95 |&)Il_#a 48 112.8 135.2 145 |38 E5F 45 1 9.2 1358 195 |#ET1 AN 42 156 [36.4
46 [ K2 x#t 46 111.6 [34.4 96 |t BuF 48 [12.8 135.2 146 [FAX BBk 45 [ 9.2 135.8 196 |[1£8E Xk 46 | 9.6 [36.4
47 |BE 46 [11.6 [34.4 97 |32 =—m | 48 112.8 |35.2 147 |HE BE 45 1 9.2 1358 197 |HE FRF [ 46 | 9.6 [36.4
48 |3t 8= 46 111.6 [34.4 98 | FX 48 [12.8 135.2 148 |t =2 49 [13.2 135.8 198 |JIIE % 46 | 9.6 [36.4
49 |8 KR 52 117.6 [34.4 99 |=d4b £F 54 118.8 135.2 149 |E@ &F 49 113.2 1358 199 [/htk EEXk | 46 | 9.6 | 36.4
50 |[2@ E1T 37 124 1346 | O 100 |BRA % 54 1188 (3521 O 150 |mee Ex# [ 51 [152 1358 | O 200 |a0 —1& 46 1 9.6 |36.4
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52 B&EEFaUN

I s K4 ouT| HD | NET B I {2 K% HD | NET | AE | [IEE K4 out| HD | NET B JIE 4 K4 ouT| HD | NET
201 |4t sEx 46 1 9.6 |36.4 251 |fER R4 47 110.4 136.6 301 [IEFE == 43 [ 6.0 [37.0 351 [VB% EER 41 1 3.6 [37.4
202 |+ B 46 1 9.6 [36.4 252 [R5 —/\ 47 110.4 136.6 302 |EEH B 43 [ 6.0 137.0 352 |lU#E EHH 41 136 [37.4
203 |#%HE B 46 |1 9.6 [36.4 253 | A BE— 51 114.4 136.6 303 [ith #45 43 [ 6.0 [37.0 353 [#ah B 41 1 3.6 [37.4
204 |HEA 46 1 9.6 [36.4 254 |k F— 51 1144 [36.6 304 |BA —f 45 [ 8.0 137.0 354 RO £=F 41 136 [37.4
205 |y RFE 46 |1 9.6 [36.4 255 |#% RBE 53 116.4 [36.6 305 [BF EE 45 [ 8.0 [37.0 355 |8RiB Hik 41 1 3.6 [37.4
206 [EH Ex 46 1 9.6 [36.4 256 | X8 B— 53 116.4 [36.6 306 |&E #% 45 [ 8.0 137.0 356 |58 B2 41 136 [37.4
207 |E @ 46 | 9.6 |[36.4 257 | XH X 53 116.4 [36.6 307 [imil Eli— 45 [ 8.0 [37.0 357 [#83# &4 41 1 3.6 [37.4
208 |luA HE 46 1 9.6 [36.4 258 /vy E2 53 116.4 [36.6 308 [+ Ak 49 [12.0 137.0 358 |l EIE 47 196 [37.4
209 [aTH BE 46 |1 9.6 [36.4 259 [#R & 53 116.4 [36.6 309 | KA B2 49 [12.0 [37.0 359 [FEIE & 47 1 9.6 [37.4
210X &= 46 1 9.6 [36.4 260 |Gl BHE 38 11.2 [36.8 310 |BiR & 49 [12.0 137.0 360 |Eik E= 47 196 [37.4
211 [luo g8 46 |1 9.6 [36.4 261 |FEHE 1E3h 38 11.2 [36.8 311|KTF & 49 [12.0 [37.0 361 [3hilf i=— 47 1 9.6 [37.4
212 |2 &K %k 46 1 9.6 [36.4 262 [fnpE ¥ 38 11.2 [36.8 312|iH &= 49 [12.0 137.0 362 |Em #F 47 196 [37.4
213 |[4kE [LE 46 |1 9.6 [36.4 263 [ka 1T 44 1 7.2 136.8 313 |IUE BE 51 114.0 [37.0 363 |&4 BEX 47 1 9.6 [37.4
214 5= B 48 111.6 [36.4 264 [lLO BAF 44 1 7.2 136.8 3140 ¥ | 55 118.0 [37.0 364 |28 E— 47 196 [37.4
215 (A4 & 48 [11.6 [ 36.4 265 [5KE #Hhth 44 1 7.2 136.8 315 [it# FM 18.0 [37.0 365 [KF &= 47 19.6 1374
216 /v St 48 111.6 [36.4 266 [#1 - BEE 44 1 7.2 136.8 316 [ F+3 B 18.0 137.0 366 |HE KiE 47 196 [37.4
217 |34 ER 48 [11.6 [ 36.4 267 |#EH EH 44 1 7.2 136.8 317 (17 Hah 20.0 [37.0 367 [1En =% 47 19.6 1374
218 BT ft 48 111.6 [36.4 268 |# £ 17K 44 1 7.2 136.8 318 (At # 2 148 [37.2 368 |F0O E= 49 111.6 [37.4
219 ke —1= 48 [11.6 [ 36.4 269 |BA % 44 1 7.2 136.8 319 |+ %8 42 148 1372 369 | ¥ 53 115.6 [37.4
220 |B)Il EF 52 115.6 1364 270 [&)1 X 44 1 7.2 136.8 320|FEHR B 42 148 137.2 370 |EF & 55 117.6 [37.4
221 |E FA| 52 115.6 | 36.4 271|thkE HEF | 44 | 7.2 1368 321 [E8 & 42 [ 48 137.2 371 [@# & 55 117.6 |37.4
222 |£5% BEA 52 115.6 1364 272 | KR Bk 44 1 7.2 136.8 322 [t 17 42 48 137.2 372 |#@E fEE 40 1 24 1376
223 |#E EX 52 115.6 | 36.4 273 [KAR 4 44 1 7.2 136.8 323 [Pt B 42 148 1372 373[EHr 15 40 |1 24 1376
224 |8 HF 54 117.6 1364 274 [#t £ BE 44 1 7.2 136.8 324 [SEH B 42 48 137.2 374 [AIE & 40 1 24 1376
225 | KM Bt 54 117.6 | 36.4 275 |[fhEs w44 | 7.2 136.8 325 |He EH 42 148 1372 375 |13 IE® 40 |1 24 1376
226 | B @H= 54 117.6 136.4 276 [dt+f TEE 46 | 9.2 136.8 326 |EF &— 42 [ 48 137.2 376 |k Eh 40 | 2.4 [37.6
227 |FmE BEx 33 1-3.6 136.6 277 |HG # 46 ] 9.2 136.8 327 | TR & 42 | 48 1372 377|3#E EB 40 1 24 1376
228 |/hFE B 39 |24 136.6 278 | @ fatH 46 | 9.2 136.8 328 |MMA &7 42 [ 48 137.2 378 [#E@E % 40 | 2.4 [37.6
229 |54 EX 45 [ 84 [36.6 279 [FEr & 46 1 9.2 136.8 329 |AR [{E 42 148 1372 379 [FR S 46 | 84 1376
230 [#&#& =0 45 1 84 [36.6 280 JEO B2 46 | 9.2 136.8 330 i 1Bt 42 [ 48 137.2 380 |33 Mt 46 | 8.4 [37.6
231 | K5 £ 45 [ 84 [36.6 281 |EF TA 46 1 9.2 136.8 331 |&H 3h 44 1 6.8 |37.2 381 |5+ BEF 46 | 84 |37.6
232 |lLR BE 45 1 84 [36.6 282 |#E =FF | 50 |13.2 |36.8 332 |HmE ik 48 [10.8 137.2 382 |HhE FE 46 | 8.4 [37.6
233 |4t = 45 [ 84 [36.6 283 [AH &HE 50 113.2 136.8 333 |1EJIl HE% 48 110.8 |37.2 383 iT)Il =% 46 | 84 1376
234 | Hic 45 1 84 [36.6 284 |[E@ ® 52 115.2 [36.8 334 |F@E &= 48 [10.8 137.2 384 | A+ Eth 46 | 8.4 [37.6
235 |0 Mg 45 [ 84 [36.6 285 [#BH FEE 52 115.2 136.8 335 [#H mEF |48 1108 [37.2 385 |[=H BE— 46 |84 [37.6
236 B3 FHHt 45 1 84 [36.6 286 /iR ER 52 115.2 [36.8 336 |§ #EHF 48 [10.8 137.2 386 [EM Fni 46 | 8.4 [37.6
237 |HE BE 45 [ 84 [36.6 287 [/ E— 52 115.2 136.8 337 |E B— 48 110.8 |37.2 387 |&JIl & 46 |84 [37.6
238 [t SE 45 1 84 [36.6 288 | k& &= 56 119.2 [36.8 338|a0 =#F |48 [10.8 [37.2 388|EE B 46 | 8.4 [37.6
239 |#& 32 45 1 84 136.6 289 |XF B 37 100 [37.0 339 [B4 =R 48 110.8 |37.2 389 |HP &= 46 |1 84 1376
240 I3 == 45 1 84 [36.6 290 |RE BI¥ 43 1 6.0 [37.0 340 |E@ BH 48 [10.8 137.2 390 |luA FHE 48 110.4 |37.6
241 [#t@ FER 45 1 84 136.6 201 |[HER 88 43 1 6.0 |37.0 341 [B1F R 48 110.8 |37.2 391 |&@ & 48 110.4 [37.6
242 |5t BXR 47 110.4 [36.6 292 |#EE & 43 1 6.0 [37.0 342 | k¥t =t 48 [10.8 137.2 392 |#1L BAE 48 110.4 |37.6
243 |Eth FEE 47 [10.4 [36.6 293 |/IhE EEX 43 1 6.0 |37.0 343 |BAR FOHk 48 110.8 |37.2 393 |FH it 48 110.4 [37.6
244 1B &k 47 110.4 [36.6 204 |A1E A 43 1 6.0 [37.0 344 [Ad B 50 |12.8 [37.2 394 |iEER BR 52 114.4 [37.6
245 % B— 47 [10.4 [36.6 295 (@ BE 43 1 6.0 |37.0 345 | X8 f— 50 [12.8 |37.2 395 |8 EH 52 1144 137.6
246 |i2F &iE 47 110.4 [36.6 296 |£78 X 43 1 6.0 [37.0 346 [BAR KkK— 56 |118.8 [37.2 396 |[AAX k= 52 [14.4 [37.6
247 [ KT 47 [10.4 [36.6 207 | K & 43 1 6.0 |37.0 347 [EL A= 41 136 374 397 [+t &AI 52 1144 137.6
248 [:Em — 47 110.4 [36.6 208 |41l E= 43 1 6.0 [37.0 348 |EE &= 41 [ 3.6 |37.4 398 [#tK RE 52 [14.4 [37.6
249 [E L &% 47 [10.4 [36.6 299 | &K R 43 16.0 137.0 349 |FH EX 41 1 3.6 |37.4 399 [F¥E =th 52 1144 137.6
250 iR B 47 1104 (366 ] O 300 (84 EEx 43 1 6.0 137.0 350 A BE 41 [ 3.6 374 400 | K+t #EF | 52 [14.4 [37.6
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52 B&EEFaUN

pi{ P

I s K4 out| HD | NET | AE I {2 K% out| HD | NET | ABE | |IESE K4 out| WD | NET | AE JIE 4 K4 ouT| HD | NET
401 |&H@E B= 54 116.4 137.6 451 |HE BX 44 16.0 [38.0 501 |BE &— 51 |112.8 [38.2 551 |EH B4 47 184 [38.6
402 165 M 54 116.4 137.6 452 |2)I & 50 112.0 [38.0 502 J:;i HAE 51 112.8 [38.2 552 |gkmE {E1T 47 184 [38.6
403 [&M)I &EE 54 116.4 |137.6 453 2@ BX 50 112.0 [38.0 503 [iE# Eth 51 112.8 [38.2 553 |[B% F&8 47 184 [38.6
404 |HtE IR 39 112 1378 454 |HA B 50 112.0 [38.0 504 =r—/z%u X& [ 51 112.8 138.2 554 |FEE $k 47 184 [38.6
405 |ludt BR 39 1.2 1378 455 |4 $°BH 50 112.0 [38.0 505 |#K Ki& 55 116.8 [38.2 555 1B BETF | 47 [ 84 [38.6
406 |HE B®E 45 1 7.2 1378 456 |# F 1EA 50 112.0 [38.0 506 |E3+ & 55 116.8 [38.2 556 [ &2 47 184 [38.6
407 |=H St 45 1 7.2 [37.8 457 |#EHE & 50 112.0 [38.0 507 [RE #= 42 [ 3.6 |38.4 557 {=E %ER 47 184 [38.6
408 |EF BF 45 1 7.2 1378 458 |HE #Ex 50 112.0 [38.0 508 |3 H— 42 [ 3.6 1384 558 |#B/E =13 47 184 [38.6
409 |¥AE B 45 1 7.2 [37.8 459 |7rH B 50 112.0 [38.0 509 |&4t % 42 [ 3.6 |38.4 559 |db/R &4t 47 184 [38.6
410|MF & 45 1 7.2 13781 O 460 |1EEH FRER 50 112.0138.0] O 510 [&%TF o 42 36 13841 O 560 |l 554 47 184 [38.6
411 | E RER 45 1 7.2 [37.8 461 ke B 50 112.0 [38.0 511 |)IIE B— 42 [ 3.6 |38.4 561 |BH #X 47 184 [38.6
412 |58k KR 45 1 7.2 1378 462 |BIE ER 56 _118.0 [38.0 512|#0 & 48 [ 9.6 |38.4 562 |f1E EAR 47 184 [38.6
413|211 & 45 1 7.2 [37.8 463 |HHIL BE | 56 |18.0 |38.0 513 |dil #4 48 [ 9.6 |38.4 563 [#EA X% 49 110.4 [38.6
414 | K%t pB8 45 1 7.2 1378 464 |FHB ER 56 _118.0 [38.0 514 @l k= 48 [ 9.6 |38.4 564 |G HIE 49 110.4 [38.6
415 [ A ErE 45 [ 7.2 [37.8 465 |ILER #hth 56 118.0 138.0 515 [ FM &% 48 1 9.6 |38.4 565 [iT4f EEdA 53 |14.4 138.6
416 | K+t 1T 45 1 7.2 1378 466 lLO BE— 58 120.0 [38.0 516 [F@ & 48 [ 9.6 |38.4 566 |IE#k FETF | 53 [14.4 [38.6
417 [EE Eth 45 1 7.2 137.8 467 [KE =X 43 148 138.2 517 /vl R 48 [ 9.6 |38.4 567 [AIH &= 53 [14.4 [38.6
418 [dtlE &EA 45 1 7.2 1378 468 |iFl%s FxH | 43 | 4.8 1382 518 [FA —1= 48 [ 9.6 |38.4 568 |t 8§ 53 114.4 [38.6
419 [Fih Fik 47 19.2 [37.8 469 | EH 43 1 4.8 |38.2 519 [FE#k f2— 48 [ 9.6 |38.4 569 [ —1& 53 114.4 [38.6
420 lL0 %= 47 192 (3781 O 470 |Z=H &% 43 148 13821 O 520 [RE B 48 196 13841 O 570 [ #F 42 |1 3.2 138.8
421 [BBX F= 47 1 9.2 [37.8 471 510 B 43 |1 4.8 |38.2 521 (&% BUL 48 1 9.6 |38.4 571 [iER &= 46 | 7.2 138.8
422 |ZME BhME 51 113.2 137.8 472 |t% = 43 148 138.2 522 |HE & 48 [ 9.6 |38.4 572|481l BhE 46 | 7.2 138.8
423 |EIL %R 51 113.2 137.8 473 | A B 43 |1 4.8 |38.2 523 [tk B 50 [11.6 [384 573 | K # 46 | 7.2 138.8
424 |/NEF EHA 51 113.2 137.8 474 |2 H EI% 43 148 138.2 524 |#% ik Han 50 111.6 [38.4 574 | KB E{E 46 | 7.2 138.8
425 |\E g 51 113.2 137.8 475 |/vk EF 43 1 4.8 |38.2 525 |8 ®E 50 [11.6 [384 575 |5+ 8 46 | 7.2 138.8
426 |17 BE | 51 [13.2 [37.8 476 |BO #= 43 | 4.8 138.2 526 |EX &8 54 115.6 [38.4 576 [#EH RE 46 | 7.2 138.8
427 [luKX %ZE 51 113.2 137.8 477 |[#@A =4 43 1 4.8 |38.2 ACENES 54 [15.6 [384 5775+ =% 46 | 7.2 138.8
428 [#AK #Hi— 51 113.2 137.8 478 |E1f #7BR 49 110.8 |138.2 528 | Al S 54 [15.6 [38.4 578 /Ml % 46 | 7.2 138.8
429 A K 51 113.2 137.8 479 |2 Rk 49 110.8 |138.2 520 [BAR % 54 115.6 [38.4 579 | LR 2% 46 | 7.2 138.8
430 [58 & 53 115.2 13781 O 480 |1l BE4E 49 110813821 O 530 [=# =B 54 [156 (384 [ O 580 |/NEE =] 46 | 7.2 138.8
431 |R& H5&F | b3 [15.2 [37.8 481 [0 #4 49 110.8 |138.2 531 || & 54 115.6 [38.4 581 [FE)I| &= 48 1 9.2 138.8
432 |#%&T 3|HKF | 57 [19.2 [37.8 482 1)1 ®E 49 110.8 |138.2 532 |#8&X RETF | 54 [15.6 | 38.4 582 |88 & 52 [13.2 138.8
433 [EF &8 57 119.2 137.8 483 |)Il3E E1T 49 110.8 |138.2 533|[X% FmF | 54 115.6 [38.4 583 [#ME 8Kt | 52 [13.2 [38.8
434 |HE Fi& 57 119.2 137.8 484 |5H E1T 49 110.8 |138.2 534 | R BB= 54 115.6 [38.4 584 [hiE 37X 52 [13.2 138.8
435 |giifE IE4 57 119.2 137.8 485 |32/ L& 49 110.8 |138.2 535 | A #H— 54 115.6 [38.4 585 |EX BB 52 113.2 138.8
436 [ILX Eth 38 1 0.0 138.0 486 |B% Fx 49 110.8 |138.2 536 |ES = 56 |17.6 [38.4 586 |&M &4 52 [13.2 138.8
437 [#t@ =A 38 1 0.0 138.0 487 [iE4R R 49 110.8 |138.2 537 [#Z AIBE 41 124 138.6 587 /NIl @& 52 113.2 138.8
438 |45 IE 44 1 6.0 [38.0 488 |t &Ew 49 110.8 |138.2 538 [hHE H— 41 [ 24 138.6 588 |&+t = 52 [13.2 138.8
439 [FE F18A 44 [ 6.0 [38.0 489 |8 #F 49 110.8 |38.2 539|311l EE 41 124 138.6 589 |h A f2= 52 113.2 138.8
440 | B4 = 44 160 [38.0] O 490 |#E 8 49 110813821 O 540 |ILF K— 41 [ 24 1386 O 590 |HAT &K 52 [13.2 138.8
441 | Nk EE 44 [ 6.0 [38.0 491 |=# A 49 110.8 |38.2 541 |BRE HEAI 41 124 138.6 591 | EE #it 52 113.2 138.8
442 |+ 3# Xk 44 1 6.0 [38.0 492 |s1E k% 49 110.8 138.2 542 |#iE IEHE 41 [ 24 138.6 592 A K& 52 [13.2 138.8
443| A Ef 44 1 6.0 [38.0 493|=%¢ B 49 110.8 |38.2 543 |thit #ijE 47 [ 84 138.6 593 |EH —= 52 113.2 138.8
4440 — A 44 1 6.0 [38.0 494 | 3R 3hE% 49 110.8 |138.2 544 | KH HE 47 [ 8.4 138.6 594 |BEk == 54 115.2 |38.8
445 [it A B 44 1 6.0 [38.0 495 |HiE Et 49 110.8 |38.2 545 [FEx F=F |47 | 8.4 [38.6 595 | PR E{= 58 119.2 138.8
446 |RIE B8R 44 1 6.0 [38.0 496 |RF sth 49 110.8 |138.2 546 |LUR & 47 [ 8.4 138.6 596 |%E =T 39 10.0 [39.0
447 |R H#= 44 1 6.0 [38.0 497 |E5H Et 49 110.8 |38.2 547 |#E £t 47 [ 84 138.6 597 |ER =—88 | 45 [ 6.0 [39.0
448 |37 B 44 1 6.0 [38.0 498 |5ATH EAER | 49 [10.8 138.2 548 [&k & 47 [ 8.4 138.6 598 |8 = 45 16.0 [39.0
449 )15 &5 44 1 6.0 [38.0 499 |IE Rk 49 110.8 |38.2 549 | A& RER 47 [ 84 138.6 599 |EEAR I 45 16.0 139.0
450 | &<+ Hw# 144 [ 6.0 [380] O 500 [=1F BF 51 112813821 O 550 | B —% 47 84 1386 O 600 |iES —r8 45 16.0 [39.0
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No. 4

I s K4 out| HD | NET | AE I {2 K% out| HD | NET | ABE | |IESE K4 out| WD | NET | AE JIE 4 K4 ouT| HD | NET | AE
601 |8 HEX 45 1 6.0 [39.0 651 |k 52 43 | 3.6 139.4 701 |#nE & 47 [ 7.2 139.8 751 /iR BhE 60 [20.0 [40.0
602 [£E EF 45 1 6.0 [39.0 652 /MR Rt 43 | 3.6 1394 702 | b5 HE 47 [ 7.2 139.8 752 311 Bh 60 [20.0 140.0
603 | B EE 45 1 6.0 [39.0 653 |IEE JX 43 | 3.6 139.4 RIER 47 [ 7.2 139.8 753|BA =& 60 [20.0 [40.0
604 |HF Z 45 1 6.0 [39.0 654 |7 _EF 49 196 1394 704 (=8 & 47 [ 7.2 139.8 754 [IrE B F] 45 148 140.2
605 |3l £ 45 [ 6.0 [39.0 655 [HH B= 49 1 9.6 139.4 705 [{EBE HEEB 47 1 7.2 139.8 755 |RE Sk 45 | 4.8 140.2
606 | K+t BB 47 180 [39.0 656 |#EF EA 49 196 1394 706 |&EH E= 47 [ 7.2 139.8 756 |[1Em —= 45 148 140.2
607 |ZR BAE |51 112.0 [39.0 657 (=& & 49 19.6 139.4 707 [ER #h 47 [ 7.2 139.8 757 |FEE Eig 45 | 4.8 140.2
608 lLp ®== 51 112.0 139.0 658 |FFt %A 49 196 1394 708 [FE+T A 47 [ 7.2 139.8 758 iR H—81 [ 45 | 4.8 [40.2
609 [S)Il & 51 112.0 139.0 659 |3F4X IEFD 49 19.6 139.4 709 [HE & 53 |13.2 [39.8 759 |=FB 16— 47 16.8 140.2
610 |2 H s 51 112.013901 O 660 |[EH 2 49 196 13941 O 710[li0 =% 53 1132 {3981 O 760 |xsmm Fx [ 51 [10.8 [40.2
611 |52 K & 51 112.0 139.0 661 [t & 49 1 9.6 139.4 11 |EHR &8 53 |13.2 [39.8 761 | Lt B= 51 110.8 |40.2
612 |=H 51 112.0 139.0 662 |BEFP % 49 196 1394 A INIEES 53 113.2 [39.8 762 iATEF #= 51 110.8 140.2
6138 £8F 51 112.0 139.0 663 |l BiR 51 111.6 [39.4 7135l #iT 53 113.2 [39.8 763 |=/@ =+75 [ 51 [10.8 [40.2
614|% 185 51 112.0 139.0 664 Mg ¥ 55 115.6 139.4 714[dt 5B 53 113.2 [39.8 764 |FE= ERE 51 110.8 140.2
615 |LUMA & 51 112.0 139.0 665 [FEK FES 55 115.6 139.4 715 |#@E EEF |53 113.2 139.8 765 |&E sng| 51 110.8 140.2
616 | B2 51 112.0 139.0 666 [0 A 55 115.6 139.4 716 [db)11 HiE 53 113.2 [39.8 766 [BR 2= 57 116.8 140.2
617 [ K4t FiE 51 112.0 139.0 667 @O #— 55 115.6 {394 7 |RK % 53 113.2 {39.8 767 [EIE IRIE 57 116.8 140.2
618|[F E£FE 51 112.0 139.0 668 [+t Lads | 55 [15.6 [39.4 718 |ME #®F 53 113.2 [39.8 768 [)IE BAF 44 1 3.6 [40.4
619 |EE+t #— 57 118.0 139.0 669 [M3# EX 55 115.6 {394 719 [ XF 53 [13.2 139.8 769 k& wbF 50 1 9.6 1404
620 [#AK #ERR 57 118.0139.0 1 O 670 |EH = 55 11561394 O 7120 [EX & 53 1132398 [ O 770|EH BEE 50 1 9.6 [40.4
621 | =2 E&#H 57 118.0 139.0 671 |th)Il &7 55 115.6 [39.4 721 |EAX 2 53 113.2 {39.8 771 |#K EE 50 1 9.6 1404
622 | £+t B 57 118.0 139.0 672 |thit EmF | 57 117.6 1394 722 [FEFT BEA 55 115.2 [39.8 172|HE BE 50 196 [40.4
623 |tk == 59 120.0 139.0 673 |BHl IE1R 42 124 139.6 723 |F1E =F 59 [19.2 139.8 113X 1= 50 1 9.6 1404
624 O #F 59 120.0 139.0 674|525 BE 42 124 139.6 724 |55k —ER 59 119.2 [39.8 A EES 50 196 [40.4
625 M HEF [ 59 [20.0 [39.0 675 |lUA Es 42 124 139.6 725 |XE KiE 59 [19.2 139.8 775 |E5% BE 52 111.6 140.4
626 |51l =i 44 148 [39.2 676 |ER EF 42 1 2.4 139.6 726 [se/E 40 [ 0.0 [40.0 776 | #h 56 [15.6 [40.4
627 | &8 E— 44 | 48 [39.2 677 |&F %m 48 1 8.4 139.6 727 [itE =@ 46 | 6.0 140.0 7771E7 3% 56 |15.6 140.4
628 | k@ FF 44 148 [39.2 678 |EIL =it 48 | 8.4 139.6 7128 |#EE A= 46 [ 6.0 140.0 778 | H— 56 [15.6 [40.4
629 |E3 £% 44 | 48 [39.2 679 [luA Er— 48 1 8.4 139.6 729 |A@A #= 46 | 6.0 140.0 779 |BEE BEA 56 |15.6 140.4
630 | E FIA 44 148 [39.2] O 680 |7vO #FA 48 184 1396 ] O 730 |F#= sE |46 | 6.0 [400] O 780 |KHE E83 58 [17.6 1404
631 |HE tE5 44 | 48 [39.2 681 |HG 28 48 1 8.4 139.6 731 5T BRER 46 | 6.0 140.0 781 |28 F% 49 |1 84 140.6
632 |EH S 44 148 [39.2 682 [hH —17F 48 | 8.4 139.6 VA GEEEN 46 [ 6.0 140.0 782 | EFE R 49 | 8.4 [40.6
633 |FHE BA 46 | 6.8 [39.2 683 |#fiF E= 48 1 8.4 139.6 733 |ElE wh 46 | 6.0 140.0 783 | FHE @2 49 |1 84 140.6
634 |h#t 178 50 110.8 139.2 684 |1E~K Kk | 48 | 8.4 139.6 734 | B4R B 46 [ 6.0 140.0 784 |21l = 49 | 8.4 [40.6
635 [BER EF 50 110.8 139.2 685 |58 B¥ 48 1 8.4 139.6 735 |t BB 46 | 6.0 140.0 785 |[MTIR #Ek 49 |1 84 140.6
636 [JEN B= 50 [10.8 139.2 686 |[tEM@ HH 48 | 8.4 139.6 736 [ HE1E 46 [ 6.0 140.0 786 |84t Fht 49 | 8.4 [40.6
637 [ih#t M= 50 110.8 139.2 687 |HAX B 48 1 8.4 139.6 737 [dL 5 Bt 46 | 6.0 140.0 787 |@E% B+t 49 |1 84 140.6
638 |= @ FE 50 [10.8 139.2 688 |Hh¥t KA 48 | 8.4 139.6 738 |FH B 52 112.0 [40.0 788 |#ER BE— 49 | 8.4 [40.6
639 |k SER 50 110.8 139.2 689 [HM 1K 50 110.4 139.6 739 | BN #HF 52 [12.0 [40.0 789 | =17 Bk 55 114.4 140.6
640 [AIE B 50 110.8 139.2 | O 690 |t Z&Fi | 54 [144 (396 [ O N EXSET: 52 112.0 {400 ] O 790 [l ER 55 114.4 [40.6
641 |1 F &= 50 110.8 139.2 691 |8 =i 54 114.4 139.6 741 |m —£8 52 [12.0 [40.0 791 |Bs BEF 55 114.4 140.6
642 |F1R & 50 [10.8 139.2 692 |Xdt B3k 54 114.4 [39.6 742 |58 BAF 52 112.0 [40.0 792 |lRO0 2 55 114.4 [40.6
643 |[4EE #X 50 110.8 139.2 693 |FiEE —2 41 1 1.2 139.8 743 |k B 52 [12.0 [40.0 793 [ 1= 55 114.4 140.6
644 |FE RIE 56 [16.8 139.2 694 [/hFE & 41 1 1.2 139.8 744 [BE R 52 112.0 [40.0 794 | <8 @— 55 114.4 [40.6
645 [E5)I| E— 56 116.8 139.2 695 [shtk =¥ [ 41 [ 1.2 139.8 745 [nEB BE= 52 [12.0 [40.0 795 |EF £iT 55 114.4 140.6
646 | LB FEF [ 56 |16.8 | 39.2 696 [FHt = 47 1 7.2 139.8 746 [IEE %1Z= 58 118.0 [40.0 796 |EEA BA 42 |1 1.2 140.8
647 I14R B 56 116.8 139.2 697 [BE E= 47 1 7.2 139.8 747 |8 xF 58 [18.0 [40.0 797 vk & 48 |1 7.2 140.8
648 |EIL EA 56 [16.8 139.2 698 [E #— 47 1 7.2 139.8 748 [imF Ei 58 118.0 [40.0 798 [ikh MRE 48 | 7.2 140.8
649 |8 &= 43 [ 3.6 (394 699 |l E£w 47 17.2 139.8 749 |BER #RF 58 [18.0 [40.0 799 |FBR & 48 |1 7.2 140.8
650 [IE@E EE 43 136 [394] O 700 [ERE AFE 47 172 13981 O 750 |48 1&kF 58 118.0 [40.0] O 800 |7 # 48 | 7.2 140.8
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No. 5
JIE 4% K4 OUT| HD | NET | AE [t K4 OUT| HD | NET | AE =i K4 OUT| HD | NET | AE 4L K4 OUT| HD | NET | AE
801 |#l 48 1 7.2 [40.8 851 |=M BHH 50 1 84 |41.6 901 |=¢ Ef 62 119.2 142.8 951 |¥3E BRF 65 8.0 [47.0
802 |FFL FIsA [48 | 7.2 [40.8 852 | FEfE B | 50 | 84 |41.6 902 |#FB 5E— 49 1 6.0 143.0 952 | B EF 64 6.8 147.2
803 |BE E— 54 [13.2 140.8 853 |HhE K& 56 114.4 141.6 903 |&=+ %0 55 112.0 {43.0 953 |Ad HRFE 59 196 1494
804 | % A 54 113.2 140.8 854 |)IIFt @I 56 1144 141.6 904 | &+ S 55 [12.0 {43.0 954 | ft K# 64 1144 149.6
805 |F il =E 54 [13.2 140.8 855 |ME# ¥ 56 114.4 141.6 905 |&M & 55 112.0 {43.0 955 | R X 64 113.2 150.8
806 |lUAK E=F 54 113.2 140.8 856 | BUE 56 1144 141.6 906 |/\#k #ME 55 [12.0 {43.0 956 |#% BHEE 74 1200 (5401 O
807 |BEH FE 54 [13.2 140.8 857 [l &7 45 |1 3.2 141.8 907 |Ell H= 55 112.0 {43.0 957 |FAX H 78 120.0 {580 O
808 |Fa%kiE #kE [ 54 113.2 [40.8 858 |ILAR FEF |49 | 7.2 1418 908 |fHE FEiE 61 [18.0 {43.0
809 |=H HE 54 [13.2 140.8 859 |/t & 49 | 7.2 141.8 909 |B B2 61 118.0 [43.0
810 |AF KB 54 113.2 1408 | O 860 |/\ K Fbif 49 172 14181 O 910 ' ik ES 63 120.0 {4301 O
811 |Kid F 54 [13.2 140.8 861 |8 FiE 49 | 7.2 141.8 9111|5744 BERE 48 | 48 143.2
812|EF EH 60 119.2 140.8 862 | 515 FRL 49 1 7.2 141.8 912 |fEE R’ 54 110.8 143.2
813 |FJIl (& 60 [19.2 140.8 863 A F|— 55 113.2 141.8 913 |R R 54 110.8 |43.2
814 |B1# EHMmZE |60 [19.2 [40.8 864 |#II = 55 113.2 141.8 914 |8 mxF [ 60 [16.8 143.2
815 |lu0 B 47 1 6.0 [41.0 865 |28 & 55 113.2 141.8 915 | XKl BAE 60 116.8 |43.2
816 |hit #1B 47 1 6.0 [41.0 866 | L+ Hi— 55 113.2 141.8 916 |/h# FEF [ 60 [16.8 143.2
817|£8 A8 47 1 6.0 [41.0 867 |IUA #H= 61 119.2 141.8 917 IR E# 60 116.8 |43.2
818 | K& PHER 53 112.0 141.0 868 |7 8hT] 48 |1 6.0 1420 918 | ki #MEF [ 60 [16.8 143.2
819|&/K ZEF (53 |12.0 [41.0 869 | K Hf— 48 |1 6.0 142.0 919 | &F& 60 116.8 |43.2
820 | K+t ZEME 53 112.0 14101 O 870 | B BhER 54 11201420 O 920 |B8 H&1T 60 [16.8 {432 O
821 |f%E = 53 [12.0 |41.0 871|& H 54 112.0 142.0 921 |+ FA 47 | 3.6 1434
822 |kt & 53 112.0 141.0 872 |fIA Eth 54 112.0 1420 922 |iEK # 59 [15.6 {434
823|dtih 5&%E [ 53 [12.0 [41.0 873 |tk F= 60 118.0 142.0 923 |FE IR 52 184 143.6
824 |f2H EF 53 112.0 141.0 874 |B5H s 60 118.0 1420 924 |k P& 57 113.2 143.8
825 | K &M 53 [12.0 [41.0 875 |08 B 62 120.0 142.0 925 |;2@ EA 63 119.2 143.8
826 |Fik = 53 112.0 141.0 876 |hE FF 62 120.0 142.0 926 |[#iKk —= 63 119.2 143.8
827 |dtF R 59 [18.0 [41.0 877 |#HA B#B= 62 120.0 142.0 927 |iFH £ 50 | 6.0 [44.0
828 |iglk EF 59 118.0 [41.0 878 |iAK =/t 62 120.0 142.0 928 |l B4 50 [ 6.0 {440
829 |ME IEfM 59 [18.0 [41.0 879 |hiE & 62 120.0 142.0 929 | El 56 112.0 [44.0
830 |&FH Hth 59 118.0 141.0] O 880 |fEIL &2 47 148 14221 O 930 |/NA # Rk 56 [12.0 {440 O
831 |~ KX #1&E [ 61 |20.0 [41.0 881 |JIl& Rth 47 | 48 142.2 931 | £ TX 56 112.0 [44.0
832 |&E EHE 46 | 48 [41.2 882 |\ EXE 47 |1 4.8 142.2 932 |EA vEH [ 64 [20.0 |44.0
833|/\E IE 46 |1 48 [41.2 883 |4t =E:E# 53 110.8 |42.2 933 |E5 H# 54 196 [444
834 |F&JIl &SN 46 | 48 [41.2 884 |t 1BF 53 110.8 142.2 934 |ElF Eif 60 [15.6 [44.4
835 |&0 (54 [52 1108 [41.2 885 |#K XF 59 116.8 |42.2 935 |#1E mth 60 115.6 |44.4
836 |IBXR EE 58 [16.8 141.2 886 |E&E #F 59 116.8 |42.2 936 |t & 53 184 144.6
837|®m # 58 [16.8 [41.2 887 |FH 7 46 | 3.6 1424 937 |EM F# 59 1144 144.6
838 |= &utE 45 1 3.6 [41.4 888 |MAAK =Eif 46 | 3.6 1424 938 | KA —3 [ 64 [19.2 144.8
839 |E% ME 45 1 3.6 [41.4 889 |BEA /- 52 196 (424 939 |&#h BHE 51 [ 6.0 {45.0
840 [dbJIl MERE 51 196 1414 ] O 890 |Fm H<AH [ 51 |1 84 426 | O 940 |RFH EH 57 [12.0 (450 O
841 |1+ EF ik 51 196 1414 891 |E)Il EAE 53 110.4 |42.6 941 |ILA REAES [ 57 [12.0 [45.0
842 |BTH = 51 196 1414 892 |EA ¥F 53 110.4 [42.6 942 |IIA BF 65 120.0 {45.0
843 |FH %% 51 196 1414 893 |#MA Ex 57 114.4 142.6 943 |FE#E K 56 110.8 |45.2
844 |# Lt #— 53 [11.6 1414 894 | At V&H 57 114.4 142.6 944 |ER &F 61 1156 [45.4
845 |XE #H— 57 [15.6 1414 895 iER F— 57 114.4 142.6 945 |&24H iR 53 | 7.2 145.8
846 | KE EKRES |44 | 24 [41.6 896 |/\dE W= 50 | 7.2 1428 946 |EH HEE 65 119.2 145.8
847 |HJI & 44 24 1416 897 [l @5 56 113.2 142.8 947 | kB 1F:k 58 112.0 [46.0
848 |ER & 50 [ 84 |41.6 898 |EAX &7 56 113.2 142.8 948 |51 "E 66 120.0 [46.0
849 | EF 50 [ 84 |41.6 899 |t/ EIR 56 113.2 142.8 949 |H E E=£ 66 [20.0 {46.0
850 |4 H# F= 50 184 1416 ] O 900 |#iTA #— 62 [19.2 {428 | O 950 |[ZR EE 66 [20.0 {460 O




